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Molarity Ranking Tasks

Apprentice Difficulty Level

Question Group 1

Question 1

Three aqueous solutions are made by mixing varying amounts of solute (NaCl) in the
same volume of water. Rank the solutions according to their molarity (M).

0.50 mol 1.00 mol 2.00 mol
NaCl NaCl NaCl

0.50 L
H20

Question 2
Three aqueous solutions are made by mixing varying amounts of solute (NaCl) in the
same volume of water. Rank the solutions according to their molarity (M).

2.00 mol 0.50 mol 1.00 mol
NaCl NaCl NaCl

0.50 L
H20




Question 3
Three aqueous solutions are made by mixing varying amounts of solute (NaCl) in the
same volume of water. Rank the solutions according to their molarity (M).

1.00 mol 2.00 mol 0.50 mol
NaCl NaCl NaCl
- =
0.50L 0.50L
H20 H20

Question Group 2

Question 4

Three aqueous solutions are made by mixing varying amounts of solute (NaNO3) in the
same volume of water. Rank the solutions according to their molarity (M).

0.50 mol 1.00 mol 2.00 mol
NaNO3 NaNO3 NaNO3

I I
2.00L 2.00L 2.00L
H20 H20 H20
Question 5

Three aqueous solutions are made by mixing varying amounts of solute (NaNO3) in the
same volume of water. Rank the solutions according to their molarity (M).

2.00 mol 0.50 mol 1.00 mol
NaNO3 NaNO3 NaNO3
——

2.00 L 2.00 L
H20 H20




Question 6
Three aqueous solutions are made by mixing varying amounts of solute (NaNO3) in the

same volume of water. Rank the solutions according to their molarity (M).

1.50 mol 1.50 mol 1.50 mol
NaCl NaCl NaCl

e \ 4 v
2.00L 1.00 L 0.50L

Question Group 3

Question 7
Three aqueous solutions are made by mixing the same amount of solute (NaCl) in the

varying volumes of water. Rank the solutions according to their molarity (M).

1.50 mol 1.50 mol 1.50 mol
NaCl NaCl NaCl
—— !
2.00L 1.00 L

Question 8

Three aqueous solutions are made by mixing the same amount of solute (NaCl) in the
varying volumes of water. Rank the solutions according to their molarity (M).

0.80 mol 0.80 mol 0.80 mol
NaOH NaOH NaOH
v
2.00L 1.00 L




Question 9
Three aqueous solutions are made by mixing the same amount of solute (NaCl) in the

varying volumes of water. Rank the solutions according to their molarity (M).

0.80 mol 0.80 mol 0.80 mol
NaOH NaOH NaOH

< > < >
m 0.50 L 2.00L

Question Group 4

Question 10
Three aqueous solutions are made by mixing the same amount of solute (NaOH) in the

varying volumes of water. Rank the solutions according to their molarity (M).

0.80 mol 0.80 mol 0.80 mol
NaOH NaOH NaOH
v v
1.00L 0.50L

Bl IS
Question 11

Three aqueous solutions are made by mixing the same amount of solute (NaOH) in the
varying volumes of water. Rank the solutions according to their molarity (M).

0.80 mol 0.80 mol 0.80 mol
NaOH NaOH NaOH
v
1.00 L




Question 12
Three aqueous solutions are made by mixing the same amount of solute (NaOH) in the
varying volumes of water. Rank the solutions according to their molarity (M).

0.80 mol 0.80 mol 0.80 mol
NaOH NaOH NaOH
I ——
1.00L 2.00 L
H20

Master Difficulty Level

Question Group 5

Question 13

Three aqueous solutions are made by mixing the same mass of varying solutes in the
same volume of water. Rank the solutions according to their molarity (M).

2.009 2.009 2.009
NaCl NaF NaNO3;
I I
0.50 L 0.50 L
H20 H20

Question 14
Three aqueous solutions are made by mixing the same mass of varying solutes in the
same volume of water. Rank the solutions according to their molarity (M).

2.00g 2.00g 2.00g

NaNO3 NaCl NaF
. =

0.50 L 0.50 L 0.50 L

H20 H20 H.0



Question 15
Three aqueous solutions are made by mixing the same mass of varying solutes in the
same volume of water. Rank the solutions according to their molarity (M).

20049 200g 2.009
NaF NaNO3; NacCl
I I
0.50 L 050 L 0.50 L
H20 H20 H20

Question Group 6

Question 16

Three aqueous solutions are made by mixing the same mass of varying solutes in the
same volume of water. Rank the solutions according to their molarity (M).

0.50¢g 0.50¢g 0.50¢g
NaCl NaF NaNOs3
. =
2.00 L 200L 2.00 L
H20 H20 H.O

Question 17
Three aqueous solutions are made by mixing the same mass of varying solutes in the
same volume of water. Rank the solutions according to their molarity (M).

0.50¢g 0.50¢g 0.50¢g
NaNOs NaCl NaF

2.00L
H20




Question 18
Three aqueous solutions are made by mixing the same mass of three different solutes
in the same volume of water. Rank the solutions according to their molarity (M).

0.50¢g 0.50¢g 0.50¢g
NaF NaNOs; NacCl
. =
2.00 L 2.00 L
H20 H20

Question Group 7

Question 19

Three aqueous solutions are made by mixing a different mass of varying solutes in the
same volume of water. Rank the solutions according to their molarity (M).

78.0¢g 82.0¢g 63.0g
CaF: Ca(NO3)2 NaF

2.00L
H20

Question 20
Three aqueous solutions are made by mixing a different mass of varying solutes in the
same volume of water. Rank the solutions according to their molarity (M).

63.0g 78.0g 82.0g
NaF CaF: Ca(NOs)2
| > . -
200L 200L
H20 H20




Question 21
Three aqueous solutions are made by mixing a different mass of varying solutes in the
same volume of water. Rank the solutions according to their molarity (M).

82.0g¢g 63.09 78.0¢9
Ca(NOs)2 NaF CaF:
. =
200L 200L 200L
H20 H20 H20

Question Group 8

Question 22

Three aqueous solutions are made by mixing a different mass of varying solutes in the
same volume of water. Rank the solutions according to their molarity (M).

95.09 80.0g 42.0¢g
MgCl2 NaOH AlF3

0.50 L
H20

Question 23
Three aqueous solutions are made by mixing a different mass of varying solutes in the
same volume of water. Rank the solutions according to their molarity (M).

42.0 g 95.0¢9 80.0¢g
AlF; MgCl2 NaOH

0.50 L
H20




Question 24
Three aqueous solutions are made by mixing a different mass of varying solutes in the
same volume of water. Rank the solutions according to their molarity (M).

80.0g 4209 95.09

NaOH AlF; MgCl:

0.50L 0.50L
H20 H20

Wizard Difficulty Level

Question Group 9

Question 25

Three aqueous solutions are made by mixing varying masses of the same solute in
varying amounts of water. Rank the solutions according to their molarity (M).

58.0g 58.0g 29.0¢g
NaF NaF NaF

2.00L
H20

Question 26
Three aqueous solutions are made by mixing varying masses of the same solute in
varying amounts of water. Rank the solutions according to their molarity (M).

29.0¢g 58.0¢g 58.0¢g
NaF NaF NaF




Question 27
Three aqueous solutions are made by mixing varying masses of the same solute in
varying amounts of water. Rank the solutions according to their molarity (M).

58.0 g 29.0g 58.0 ¢
NaF NaF NaF

<1 3 — | >
\4
1.00 L 2.00L 2.00L

Question Group 10

Question 28
Three aqueous solutions are made by mixing varying masses of the same solute in
varying amounts of water. Rank the solutions according to their molarity (M).

4009 200g 200g
NaOH NaOH NaOH

Question 29

Three aqueous solutions are made by mixing varying masses of the same solute in
varying amounts of water. Rank the solutions according to their molarity (M).

200g 40.0 g 2009
NaOH NaOH NaOH




Question 30
Three aqueous solutions are made by mixing varying masses of the same solute in
varying amounts of water. Rank the solutions according to their molarity (M).

20.09g 20.09 40.0 g
NaOH NaOH NaOH

< > . - }
2.00L 1.00 L

Question Group 11

Question 31

Three aqueous solutions are made by mixing a varying number of moles of different
solutes in varying amounts of water. Rank the solutions according to their molarity (M).

2.00 mol 1.00 mol 2.00 mol
KNO; NaOH KF

2.00L
H20

Question 32
Three aqueous solutions are made by mixing a varying number of moles of different
solutes in varying amounts of water. Rank the solutions according to their molarity (M).

2.00 mol 2.00 mol 1.00 mol
KF KNOs3 NaOH

2.00 L




Question 33
Three aqueous solutions are made by mixing a varying number of moles of different
solutes in varying amounts of water. Rank the solutions according to their molarity (M).

1.00 mol 2.00 mol 2.00 mol
NaOH KF KNO3

Question Group 12

Question 34

Three aqueous solutions are made by mixing a varying masses of different solutes in
varying amounts of water. Rank the solutions according to their molarity (M).

80.0 g 213.0 g 95.0 g
NaOH AI(NO3)s MgCl>

Question 35
Three aqueous solutions are made by mixing a varying masses of different solutes in
varying amounts of water. Rank the solutions according to their molarity (M).

95.0 g 80.0 g 213.0 g
MgCl. NaOH AI(NO3)s3

< >




Question 36

Three aqueous solutions are made by mixing a varying masses of different solutes in
varying amounts of water. Rank the solutions according to their molarity (M).

213.0 g
AI(NO3)s

95.09

MgCl2

v
1.00 L

80.0g
NaOH



